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CHINA | MALAYSIA

Determine the smallest distance d to the edge of the plate at which the force P can
be applied so that it produces no compressive stresses in the plate at section a-a.
The plate has a thickness of 20 mm and P acts along the centerline of this thickness.

'ipx:o, Nt )= o, &= g

g_(‘"c-lo ) M‘F‘(OJ"‘OQ):O/ M:?(O\/hd)

(u /Mtj . L‘j'ﬁm (\j ( _(ij :,_( PR/ g
REC S gt T e

A
= (9.3388& (5T m Y
P P(D'[—o().c\, (

N A

CU™ = 0= g~ 3 okt B8%xeen

= 0= 2.@?“‘7C0@P0N&Ci)

= d=o 6667 m= 46/ mm




I' University of s
g Nottingham | Additional example 2

The horizontal force of P = 80 kN acts at the end of the plate. The plate has a thickness

of 10 mm and P acts along the centerline of this thickness such that d = 50 mm. Plot the
distribution of normal stress acting along section a-a.
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At a point on the surface of a machine component the stresses acting on the x face of
a stress element are o, = 45 MPa and 1,, = 15 MPa (see figure). What is the
allowable range of values for the stress o, if the maximum shear stress is limited to
Trax — 20 MPa?
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